Spelling Maze

Use your -ship suffix spellings to find your way out of the maze.

Only nine of your spelling words have been used. Which one is missing?
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¥ Challenge Task 1

Which of your spelling words haven't you used?

Spelling | Year 5| Term 2A | Week 3

planit

\wink
twinkl.cc:uk *

A

Could you write a parenthesis sentence containing the word?




Spelling Maze Answers

Use your -ship suffix spellings to find your way out of the maze.
Only nine of your spelling words have been used. Which one is missing?
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¥ Challenge Task 1

Which of your spelling words haven't you used?  ownership

Could you write a parenthesis sentence containing the word?

e.9. London 200, a very popular tourist attraction in England's capital city, has recently taken ownership

of a pair of critically endangered Sumatran tigers.

H .
E plaﬂ Lt Spelling | Year 5| Term 2A | Week 3
*
*

» twinkl.co.uk



